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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. ‘

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Q1.

(a)

@us A
SECTION A

UH WEA HEH 3 qEEES I ;9 3R T 1 e w7 | gl
I % I vg @M uheAr, T 9@ ‘I hl navEehar gt 2 | T *
IETETEEY U 39-3care ‘w ot feamn fepeft arfafn @ 3w g 8 | Sedmg
‘o7 gt soTE T 3% @ 3 T 9l THE T 8 AW W I I FHR 7 |
o8 A FB IU-IAE fd Fh1E T 2% AW W I S Fehd 8, AV Bl T HEA
A sl fre FO B R TEE @ 2 13 | e o E W R
5 ISl a I ST S Gehal B | HOA T F wfd 3RS I W W A
3 ThTEAT W HA B | ‘e 1 ufa geers fafwior @ @ wfsen T 3 100 A
3 He Y% &1 @HT oal & IR T i ufa s fafmin w@ # ufean T @
IV # US4 52 AT 5 5 1 WG 01T & | i Icag W, T hl Jeqred
yfskan 1 qftome 8, @ % IcTed § B3 guF @ o S @ | kA T |
‘I & IUTeY GO HUT: 18 3T 219 & |

39 AR F1 TfUTed, HIH i F=a9 o g, W 6l 29 § T@d 80, 9
‘§ 1 Iearfed 1 ST arelt wEn 1 i, T ue. . @ied % ®9 ° Hif |
A chemical company produces two chemical products : ‘A’ and B’
Production of both products requires the same process, T" and ‘II’. The
production of ‘B’ results also in a by-product ‘C’ at no extra cost. The
product ‘A’ can be sold at a profit of ¥ 3 per unit and ‘B’ at a profit of
¥ 8 per unit. Some of this by-product can be sold at a unit profit of
ZF 2, the remainder has to be destroyed and the destruction cost is
Z 1 per unit. Forecasts show that up to 5 units of ‘C’ can be sold. The
company gets 3 units of ‘C’ for each unit of ‘B’ produced. The
manufacturing times are 3 hours each per unit for ‘A’ on process T and
‘I, and 4 hours and 5 hours per unit for ‘B’ on process I’ and ‘IT,
respectively. Because the product ‘C’ results from producing ‘B’, no time
is used in producing ‘C’. The available times are 18 and 21 hours of
process ‘I’ and ‘IT’, respectively.

Formulate this problem as an LP model to determine the quantity of ‘A’

and ‘B’ which should be produced, keeping ‘C’ in mind, to make the
highest profit for the company.
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(b)

(c)

(d)

(e)

BRI g 2 fed J gamn ? o afrn whads &0 § &6, “S@ smomm,
3 g, 3R IaH Y AW e Wiy |7 7 fRE weRr ufenfya, o,
fervetwor, gum iR Fremr &0 (Do v e . )/fAer gar g & aniee
T e & 2

Business writer Tom Peters has suggested that in making process
changes, we should “Try it, test it, and get on with it.” How does this

square with the Define, Measure, Analyse, Improve and Control
(DMAIC)/continuous improvement philosophy ?

fvia weres @ (Shumwm.) =0 2 2 .. suEn % e B fafm
fafert =1 avia Hifsre ot 7 Gaest =i sifiers Hfvm |

What is Decision Support System (DSS) ? Describe the different
methods of classification of DSS applications and state their
components.

e IqTeA T ugfa w8 2 e ugfa 2q fafim gownfya sommt @
HAee HI | T e = ugfa =i ufafda w0 % o sevas semt
&1 e fyifa Fifsw |

What is Kanban Production Control System ? State the different

possible approaches for Kanban System. Determine the number of
Kanbans needed for setting up a Kanban Control System.

UF HFA % 9 TS HIE § 1000 Thedl i fafmivr 6 aret 3 g § | g

‘¥, ¥ 3R @ ¥l 7@ FEA: 500, 300 3R 200 Thedt w1 fwfor ww@ E | wE

‘@, T D # FAM 90%, 92% I 95% Thell H AHH oEr A

Temam ST ® |

() Igfo® ¥4 ¥ IIMa TH TRt H TS ToEg B4 il grTiEr
fopat 2 2

(i) 9f 78 51 & T amgfess w1 & wafa wF TRt gFs U 2,
3Heh! grwTioar fohat 2 o Thet T 9 @ ofman 8 2 _

A company has 3 plants manufacturing 1000 scooters in a month. Plants

‘A’, ‘B> and ‘C’ manufacture 500, 300 and 200 scooters per month

respectively. 90%, 92% and 95% scooters are rated standard quality in

plants ‘A’, ‘B’ and ‘C’ respectively.

(1) What is the probability that a scooter selected at random is of
standard quality ?

(i1)  What is the probability that a scooter selected at random comes
from plant ‘B’ if it is known that the scooter is of standard
quality ?
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Q2.

(a)

(b)

= qitered demn @ R 2 fafim seae Feiem orifaal 6 fadsm
HIRT | T=E SeaTe AT | gelg T ATl H Afwerd i |
What is Aggregate Operations Plan ? Discuss the different Production

Planning Strategies. State the relevant costs associated with Aggregate
Production Plan. 15

gte fafim yr & a=1 &1 s & 9r fafis sl g 3arfed gt 6
ge fefafiga =9 9 vefifa 2

AT % TR
HITR A | T z g
I 40 50 30 70 60
11 50 70 70 40 50
111 70 60 70 80 80
v 30 50 40 80 20

W gEa & ouR W, F frsed Femen s omear 2 f () Wi
Ieqreehdl 61 5fE & wmR firm 78 g 2 Gi) fafm 3= o we seuren qum
2 ? [5% |nefehd Tt 9 leer Hifer] '

(ATt STger 2]

The following represent the number of units produced by four different

workers using five different types of machines :

Machine Types
Worker A B C D E
1 40 50 30 70 60
IT 50 70 70 40 50
III 70 60 70 80 80
v 30 o0 40 80 20

On the basis of this information, can it be concluded that (i) workers do

not differ with regard to mean productivity (ii) mean production.is same

for different machines ? [Test at 5% level of significance] 10+10=20
[Tables attached]

SDF-B-MGMT 4




Q3.

(c)

(a)

frferfiaa siihs & 2018 # s wferiht when # wfvra % a7 faw mu & .

37 24 26 31 23 45 35 34 27 25
43 27 21 39 32 24 42 36 48 23
31 46 41 28 34 26 38 40 35 26
Wwaﬂqﬁmmﬁqmaﬁﬁaﬁﬁﬁwﬁaﬁmﬁmmﬁﬁ:
ST 8 % IATHR HT Th ATGfesdeh T a1 HIfT |

e THR 3R heh! A I (standard error) F1 T 3AH @S |

a1 Frefafea agfoos S@aTeti 1 Jar & 86 &

1346 5471 5274 1865 3283 1164 9247 5754

The following data gives the marks in Mathematics in a competitive

examination in 2018 :

37 24 26 31 23 45 35 34 27 25
43 27 21 39 32 24 42 36 48 23
31 46 41 28 34 26 38 40 35. 26

Describe the procedure and draw a random sample of size 8 without
replacement from the given marks by suitable method.

Give an estimate of mean score and its standard error.

You may use the following random numbers :

1346 5471 5274 1865 3283 1164 9247 5754

$-fW1en w1 WR-HY & S e W Yed UH.E1.U. Uikl bl faehfEa &
96! fquue wtar & | FF adae | drar § ity @ e 150 @
s et B | Tk gig o Hror et i rfafien Afhe wa A sTavshd
2| 3l @ ol & fou FE % g e § sl adum safeafa & &
HAfafs 8 * 93 W I F faswey B, Tg U6 IvEN TH AC WaA H
ARG B9 il Aavashdr gl | @eq gfETed @t Uk U W |
ARG 2T $ UH 9T ey W A AR W @ B
s 3 foehey fo W et fomm o @t @ 98 weget uitened #i 7y Wra
% Tk B TR § G TIFNG W 1 3 | FE o o v e faswew @
FTER ¥ G T AU WA U3 W o | Al FE g8 foeey @1 S
F & 3R aduE srafeufd § a1 WY 92 W Ad ?, 91 € a9 &% I H 98
FreR T WEH U W S Hehdll & Y HEY WG o IS TR A TAFNG B
! 2 |

famedi ok adam feufa wrafraa $o sfafer qea fFefatea €

SDF-B-MGMT o

15



1. % T 3T 2 991 deh Iaeiifadl & 75 gfastd o1eet § |

2. STER § gouH afedfd ¥ g a6l ¥q ¢ WE H g W A w1 @9
¥ 7,50,000 fa a9 &F T |

3. T YNd H IO ¥Y § TYEFGW W T 10 IR @9 gil 3 AU e
$I 9g W T W T 5,00,000 Ifd o9 =47 g1 |

4. STeR # U U 9o § TYENG B4 W T 2,00,000 F1 @ 3R AU
e &l 9 W o4 W T 6,50,000 @= &1 | :

5. o) fopdlt ot qH Ug @ X AT R |
6.  afe Froft s+ @ A el 59t # S wad w1 i s |

7. WM ofifvu fF =l 9 I8 seftn @ o= ot ara o e
A R |

3-Fre A1 @ e = 2

E-Education is a new start-up that develops and markets MBA courses
offered over the Internet. The company is currently located in Bangalore
and employs 150 people. Due to strong growth, the company needs °
additional office space. The company has the option of leasing additional
space at its current location in Bangalore for the next two years, but
after that will need to move to a new building. Another option the
company is considering is moving the entire operation to a new building.
Another option the company is considering is moving the entire
operation into a small Central India town immediately. A fourth option
is for the company to lease a new building in Bangalore immediately. If
the company chooses the first option and leases new space at its current
location, it can, at the end of two years, either lease a new building in
Bangalore or move to a small town in Central India.

The following are some additional facts about the alternatives and

current situation :
L The company has a 75% chance of surviving the next two years.

2. Leasing the new space for two years at the current location in
Bangalore would cost ¥ 7,50,000 per year.
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Moving the entire location to Central India would cost ¥ 10 lakhs.
Leasing a new building would cost only ¥ 5,00,000 per year.

Moving to a new building in Bangalore would cost T 2,00,000 and
leasing the new building would cost ¥ 6,50,000.

The company can cancel the lease at any time.

The company would build its own building in five years, if it
survives.

Assume all other costs and revenues are the same no matter
where the company is located.

What should E-Education do ?

b @

(ii)

(1)

(i1)

SDF-B-MGMT

ZH SE@TER i TET Shewr e e ok us ure § = w whemd e
$ | gften 1 3t ufien 4 % @R fi9 oo E

TETHI SHHTH : 1.2t 8 e 8y eY T ke e | 1
vEett ulietn ¥ o7 50|42 | 51|42 [60|41|70|55|62 |38
<teft afier o 37 62|40 |61 |52 |68|51|64|63|72|50
1wl 19 qdan 4% it gur eiia s & 2 5% aefear @ W
witeror Shiferg |
[afeent 1ger 2
= g% <kl fasigdrett =1 rfieas Fifse | v ame gme faao
F1 2 2 30 Hgd i faa=m Hifse |

Ten accountants were given intensive coaching and four tests
were conducted in a month. The scores of tests 1 and 4 are given

below :
Sl. No.of Accountants: | 1 | 2 (3 |4 | 5|6 |7 ([8|9 |10
Marks in 15t Test : 50142 |51|42|60|41|70|55|62|38
Marks in 4P Test : 62 40| 61|52 68|51 (64|63|72|50

Do the scores from test 1 to test 4 show an improvement ? Test
at 5% level of significance.

[Tables attached]

State the properties of the normal curve. What is a standard

normal distribution ? Discuss its importance. 10+5=

7

20
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Q4.

(c)

(a)

(b)

(0

3mgfd S F1 ] ? (A TGN GG &k a7 H & ? A JEA TS
6T AT ATITIRAT 7, N VAT B & FS THST ATH F1 8 ?

What is a Supply Chain ? What are the elements of Supply Chain
Management ? What is the need to manage a supply chain, and what are
some potential benefits of doing so ?

Igm TaE e = 2 2 oo foftm yemiors & &1 avle fifse |
S.ARH. & TE % Y HN B = g 2

What is Enterprise Resource Planning ? Describe the different
functional areas of it. What are the advantages and disadvantages of
using ERP ?

(1)

(ii)

(1)

(i)

‘stage. Compare the strengths and weaknesses of SDLC.

SDF-B-MGMT

U Fa & Wit § faftem yer f wefa-giet i faasm fifse
3R grafa-gfedi & Trag Armal it Afeas Hif |

ush foshar & a1 Y T SRS # A IAE Al A T 20 B SN ST
a9 I |1 H @IIAA 1,000 $HEAT 3 | ARG Al Al 7g | AR
Ueh H(SL hl AW T 58 3N 35T WSHU &AvTd Ifd 99 9fd s6E T 4
8, @ & o fohat 7 w1 SAtdr femn s =nfae 2

I. Us ¥ I A diet dvra fehat & 2

II. UH g9 i FoA WSRO AN fohat & 2

Discuss the different types of inventory owned by a business and
state the costs associated with inventory.

Items purchased from a vendor cost ¥ 20 each and the forecast for
next years’ demand is 1,000 units. If it costs ¥ 5 every time an
order is placed for more units and the storage cost is T 4 per unit

per year, what quantity should be ordered each time ?

I.  What is the total ordering cost for a year ?

15

15

II. What is the total storage cost for a year ? 8+7=15

7 fam a7 o (w.Hhuw ) 71 2 2 wHhua . & faftm = et
yoh w0 wfifaa wdeat ot weml @ wfawr vl difse |
wa . g.ua. . it wiferat o wusfet St genr Hif |

What is System Development Life Cycle (SDLC) ? Describe in detail the
different phases of SDLC and the duties and functions involved in each

5+10+5=20



@UE B
SECTION B

Q5. () “UH.UHE. dobidd 99 99 W USR 3UeieY Hd & | 9 T AR TP
qareHl & s =it faawor s ghfvaa w6 & v 9ty yega @ 8 17
3 gy #, TH.UH.3. & 9y | e e |

“SMEs provide immediate large scale employment. They offer a method
of ensuring a more equitable distribution of wealth and national
resources.” In this context, give arguments in favour of SMEs. 10

(b) “fafay gum # G%ear I wH 7g QW fova § SAEERS Yd8H qHuSH
L fasg & g W R #1739 gwed W feooft fife o wfaeEi g
Iy fopu o @ yHveelt 3-fasea o fafay sy i fod=m Hifm |

“Business firms across the world are applying Global e-Business in
various divisions to achieve success.” Comment on the statement and
discuss the various applications of Global e-Business used by firms. 10

(¢ #ff FuR wka # =t cEwE Sang & fafmiv v fawom el
U S e Segel (Th e EL ) & ufasE ey w1 famm
@l § | IR ufasE % T ® ifiekfcud T % FE B A TEY
ey Ft ffde fen 2 | 9 s ufassm & vy fews &, o vfase %
oo’ o o sl w1 wfffad oft R st | waw w2 Taw H
HEhH-Hed T H o for 3 fohe wfshan st srgamdn 2
Mr. Kumar intends to launch a Fast Moving Consumer Goods (FMCG)
firm in India dealing in the manufacture and marketing of personal care
products. He has assigned the task of designing the ‘Vision’ of the firm to
his Managing Director. If you were the Managing Director of the firm,
what dimensions would you include and what dimensions would you
avoid in the ‘Vision’ of the firm ? What process would you adopt to

envision the ‘Vision’ ? 5+6=10
() WRa ¥ Fefie % SEaEl i SR g1 It Hied & @l & | i i
gfshan o shfergai < faa=mr Hifau |

In India, it is becoming increasingly difficult to push through
proposals of privatisation. Discuss the difficulties in the process of
privatisation. 10
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(e)  GHIER(IH Yaa Ud g sara@rte i w 3w ffgaref & gy o
FHCE o I HEpideh e <6t fea=mm Hifsm |
Discuss Hofstede’s ‘Cross-Cultural Classification’ with reference to

multicultural management and its implications on international

business decisions. 10

Q6. (a) AIEME H TA I TEWINT & Teed #, =y 3R a1y &1 grm s+ &
fore T et #t =me dt W sifirdina fear T R | sweEE W@ R
Al &1 3TN GrEl, el g =t &a # fammudean, faemsan ofi
SRR I FHIEM &1 8 | “H foema 1 g o 39 a1 sTfeawe
! FETET ¢ o Hiehl Sl G |
In the context of State participation in business, the government efforts
to make business and commerce easy have been widely acknowledged.
The next frontier on ease of doing business is addressing pendency,

delays and backlogs in appellate and judicial areas. Suggest ways to
address the “law’s delay” and boost the economy. 10+10=20

(b) WRa i facw =R Hifg & rala “Yra @ Fata gieer i fofim ggal #&
HedTehd I | 2016 & R g1 Fifod yg@ aeqati 1 geflag Hifs |

Evaluate the various initiatives of the ‘Exports from India Scheme’
under the Foreign Trade Policy of India. List the major goods exported
from India from 2016 onwards. 10+5=15

() Uk wisfebet famiar et 310 wfEmeml &1 ged e faveive SEr =med
8 | fowam ¥ gzma dfm fo amsfra el g fore wear spaen fawermor fafy
&l AT AT =118T |

A bicycle manufacturing company needs to do value chain analysis of its
operations. Suggest in detail as to which method of value chain analysis
should be adopted by the bicycle company. 15

Q7. (a) AN ANEET I HUNe THifie IaEfica & qey gy & a9
HITU | HEd § HTgie AAET B GaRT B TR ZH HIH-H el IBT 1Y
g7
Discuss the relation between Corporate Governance and Corporate
Social Responsibility. What steps have been taken by the government to

improve Corporate Governance in India ? 5+10=15
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(b) Fata-smma Gl & w4, fafa g 3g ot (aen-faa) &
fafim wuiel i 399 Yl wieq’ =ame $ifsu |

With reference to ‘Export-Import Procedures’, explain the ‘Different
Variants of Bill of Lading along with their Functions’ for an export

transaction. 20
© G 3 Ry s f GEEa e F = sfee (w) “af
et WHITET @ AR & fae uf & 2 |

Gi)y 39 fafg fagmal & fa@em fifve e g wndia weafEl 8
it dftEl 1 geerargds Yearu foRm S E |

(1) Discuss the various factors as to why firms are motivated to adopt
the “Horizontal Integration Strategies”.

(ii)  Discuss the various principles by which Strategic Alliances can be
managed successfully in Indian companies. 8+7=15

Q8. (a) () WA ¥ WIEE B! 1 GHGEHIHS ShHT HIT |
(i)  IUNRET Heevr STt % stnld YN B R 2 IUHIES o Hiferh
forehR o & ?
1) Give a critical assessment of Cyber Laws in India.

(ii) Who is a consumer under Consumer Protection Act ? What are the
basic rights of consumers ? : 5+10=15

(b) ‘orer Mew iede s (RMG) % =4a@™ & Traf-ud U HFl 8 | He!
w1 @i, N =gEE F AN GggUR N AEd @ IR I A
spveet faaue e it et fvir gfed v fean 2
Ife oMy ‘ot I & yEveeld fauum yerww &, @ 3wy fe wf
‘sl famom wrEtfaE % sfigors faftel i smandh 2 qrueda fagom
Wit 6 el 2 wfereres fafl 1 e feangds i |
‘Ada Apparels’ is a company dealing with ready-made garments (RMG)

business. The CEO of the company wants to expand his business
overseas and has conveyed his decision to his Global Marketing Director.
If you were the Global Marketing Manager of ‘Ada Apparels’, which all
‘Contractual Modes of Global Marketing Strategies’ would you adopt ?

Discuss any two contractual modes of global marketing strategies in
detail. 5+10=15
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© () vl oy F Frag S qu SEERd Y99 U % weg
ferg ifor |
(i) fordll T e & wEieiy qea-fuako w ywfe =@ 9 iy
HTHI T YoATh HITT |
(i) f1.ARAE.A. B F ST FQ g R deT w1 ol
faretyor s |

(i) Differentiate between ‘Systematic Approach’ and ‘Processed Form
Approach’ of Environmental Analysis.

(i)  Evaluate the various factors which affect the Environmental

Appraisal of an organisation.

(iii) Do an Internal Analysis of any organisation using VRIO
Framework. 8+6+6=20

SDF-B-MGMT 12




‘I "IOA 'suBisyelS J0) $9|qEL BYujewoig jo g1 ejge)
wioy} pafipuqy “sejqeyea uepusdepul ey se “u/p pue ‘uyy Bupje; ‘vonejodieiy sesul| esn Aew euc Pu pue ‘u jo senfea JBYIo 104

00°L 2L el 68t oYL 2SN 481 L9L SLF ERL 8L ¥EL 102 OL'Z 2% 87 09Z 00E #9% |
SEL OSE'L E¥E 0871 90 19 991 S €8 16l B6'L 202 60T L1z 622 SvZ 89 Lot BT | oZi
687k LvL €91 691 9L OLF SIL ¥Rl 261 661 P02 OLZ LT S2Z L% €Sz eLT sSie o0y | 09
WL BSL PEL 89 PLL BLL PEL 26°L 00T 80T 212 BLT ST ¥ET SYT 192 veE £2¢ 80T | Op
°9°L B9l vLL BLL AL 68 B6'L 102 60T 917 122 LT €8T e £SC 69T 267 z£e Liv | o
S9°F WL AL TOL L@ I8 96'L POZ 2127 BL'Z $Z? 62T 98T SvZ 99T LT S62 ¥Ee 02y | 92
€9t SLL OF'L SBL 06l 561 B6'L 02 SLT B2T LT T 6€T LyT 692 ¥LT 98T IEE €2y | &2
ELL 640 ¥l 681 ¥6'L BE'L £0T LI 8LZ S2T 0BT 9CT T 19T 292 WLZ W0E Ove 9Ty | v2
BLL ¥8'L 6L 6L 86l BOT 10T SL'Z €2 082 €T OVZ OpZ S92 D97 2WZ SOC vye ocy | 22
PE'L 06 S6'L 661 P0T BOZ 21T 02C 82T SLT 6T SPZ 1S 002 WZT 82 oLt eve ey | 02
88°L E6°L 86T £0T 102 1127 912 £22 8T BET ¥Z KT ¥ST ¥ST wLE 06T E£I'C 26 eEY | 6L
8L LBl 20T 80T 112 SL'Z 612 LZT VET T OVZ I9Z 897 99C LIZ ©6Z SIE SST vy |8t
86°L 10T 90T 012 SI'T 6I'Z €27 1€Z BT SvT 6¥E SST 19T OL'Z 18T 96T O€ 6SE Svy | Lt
WE 90T 112 S1T 612 ¥2Z 82T SET 2TYT 6YET VST 65T 99T ¥LZ ST IO ¥ZE €9E 6Fy | 91
40C 11'C 917 02T S2T 62C €CT OVZ ©vZ ¥SZ 69T ¥9T LT 64T 062 90 62€ 89C S5y | SI
EI'Z BIZ 22¢ (22 182 SET 66T 9T €92 092 ST OL'T 94T S92 96Z LIt ¥EE e 09y | vl
T STT 0BT YE'T BET TYT 9T EBST 092 L9F W2 LZ £9C W2 L0F BLE ¥E iec 9% | €
0EC PET BEZ E¥2 L¥T 1S2T ¥SE 29T 69°F SLT 092 S8Z 16T O0C LIt 92ZC evE 68t Sy | 2
Ov'e S¥e 6vyZ €52 LST 19C S9% 2LC 6L SOT 08T S62 IOE 60C OZE 9LE 65C 86F yeY
PSZ 892 29T 99T OLT KL? LT S8T 16T 86T 2WE LOE ¥IE 22E EEE OYE LLE Ol 96¥
e SLT 6T €8T 982 062 #6Z IL0E L0C #I'E 8L'E €2€ 6CZC LEC @ve ©9C 98¢ 92y 21§
E6Z L8 I0C ¥OE BOE 21t SI'E ZTE BZC SCE 6EE ¥E OYE BYE 69F PEE L0 Ory 26§
ECE [Z€ Ot ¥E'C BEE LFE ¥YEC ISC LSE ¥9C B9C EL'C 6Lt 9% L6 2ZI'v SEv ¥L'Y 65S
L9 OL'E wLE LT I9E YEE LOC PEE 00v 90V OL'Y Si'v 12y 9Ty 6EF ES¥ OLF ¥I'S 669
9EY OF'y EFY 9¥'y 0SY E£S¥ 95y 20v 89F Wiy L'y TBY 98 S6'y SO'S 6L I¥S 6LS 199
€95 90°S 69'S ZLS SL'9 LLS 08§ 998G I16S 06 009 P09 608 919 929 6E9 689 ¥89 1LL
£S'8 S8 /S8 65°% 290 ¥9'B 998 OL9® W@ 6.9 9@ S99 688 ¥6® 106 2ZI'6 826 §68 €10
0561 6v'6L 8P'6L L¥'6lL Ov'6L S¥'EL SYGL E¥'6L I¥'6L OV'SL BE'6L LE6L SC'6L EC6L OL'6L SZT6L 91'6L 006L LSBL
EVSC £0SE 26T L'IST 0'0ST L'6YZ 0'8YZ 'SV G'TYZ 6'L¥Z SOV 6'9EZ 9982 0'VEZ ZOEZ 9VZZ LSIZ 661 ¥igl

e
-

KON W % ® W e s B n & % £ 6 § * £ =z 1 o9

NI 1o senjep
NOILNEIHLSIA o

13

SDF-B-MGMT



-DISTRIBUTION*

Values of 1y, p

n NI 0.05 0.025 0.01 0.005
1 6.314 12.706 31.821 63.657
2 | 268 4.303 6.965 9.925
3 2.353 3.182 4.541 5.841
4 2182 2.778 3.747 4.604
5 2.015 2571 3385 4032
8 1.943 2.447 3.143 3.707
7 | 1895 2.365 2.998 3.499
8 1.860 2.306 2.896 3.355
9 1.833 2262 2.821 3.250
10 1.812 2228 2.764 3.169
1 | 1798 2.201 278 3,108
12 1.782 2179 2.681 3.055
13 1.7 2.160 2.650 3.012
14 1.781 2.145 2.624 2.977
15 1.753 2.131 2.602 2.947
16 1.746 2.120 2583 2021
17 1.740 2.110 2.567 2.898
18 1.734 2.101 2.552 2.878
18 1.728 2.083 2.539 2.861
20 1.725 2.086 2.528 2.845
21 1.721 2.080 2.518 2.831
22 1717 2074 2.508 2818
: 1.714 2.069 2500 2.807
24 L 2.064 2.402 2797
25 1.708 2.060 2.485 2.787
26 1.706 2.056 2.479 2779
27 1.703 2.052 2473 2m
28 1.701 2,048 2,487 2.763
29 1.699 2.045 2.462 2.756
30 1.697 2,042 2.457 2.750
40 1.684 2.021 2.423 2.704
60 1.671 2.000 2.3%0 2.660
120 1.658 1.880 2.358 2.617
® 1.645 1,960 2.326 2.576

“Abridged from Table 12 of Biometrika Tables for Statisticians, Vol. 1.
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